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13.

14.

15.

16.

17.

18.

39,

Who wrote ‘Matti Ki Muratei’ ?
(A) Mahadevi Verma

(B) Ramvraksh Benipuri

(C) Ram Chandra

(D) None of these

‘Jaiselmer’ city is located in which state—
(A) Punjab

(B) Uttar Pradesh

(C) Rajasthan

(D) Uttarakhand

Kedarnath, Badrinath and Gangotri temples
are located in which districts of Uttarakhand
respectively—

(A) Rudraprayag, Chamoli and Uttarkashi

(B) Chamoli, Chamoli and Uttarkashi

(C) Rudraprayag, Uttarkashi and Chamoli

(D) None of these

Who is the new President of Sri Lanka ?
(A) Mahindra Rajpakshe

(B) Matripal Shrisena

(C) Vimal Veeravaansa

(D) None of these

Recently which of the following Indian business
group started Delhi to Mumbai Airlines ?

(A) Tata Group

(B) Bajaj Group

(C) Reliance Group

(D) Birla Group

Who is the Bowling coach of Mumbai
Indians IPL team ?

(A) Kapil Dev

(B) Donald

(C) Shane Bond

(D) None of these

Who was the winner of ‘Ballon d'Or’ Award
(Third Times) in Football—

(A) Loynal Mesi

(B) James Rodrigas

(C) Mannual Noyar

(D) Cristiano Ronaldo
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21.

22,

23.

24,

25.

26.

Which famous personality did not attended
the ‘Vibrant Gujarat’ ?

(A) Sharing Tobago

(B) Jaun Kairi

(C) Bladimeer Putin

(D) Ban Ki Moon

‘Baba Ramdev’ is the Brand Ambassador of
which state ?

(A) Uttarakhand

(B) Haryana

(C) Uttar Pradesh

(D) Gujarat

Who is elected ‘Person of The Year’ by Internet
and Mobile Association of India (IAMI)}—
(A) Amitabh Bacchan

(B) Salman Khan

(C) Shahrukh Khan

(D) Amir Khan

Who was the Hero of Peshawar Kand ?
(A) Govind Ballabh Pant

(B) Badri Dutt Pandey

(C) Hemwanti Nandan Bahuguna

(D) Veer Chandra Singh Garhwali

Kotdwar is situated at banks of which river ?
(A) Ram Ganga

(B) Sonanadi

(C) Paschim Nayar

(D) Khoh Nadi

Lakhamandal is situated in which district ?
(A) Dehradun

(B) Chamoli

(C) Almora

(D) None of these

The confluence of Gomti and Saryu rivers is at ?
(A) Baijnath

(B) Bageshwar

(C) Thal
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(D) None of these
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35.

36.

37.

38.

39.

40.

41.

EVM stands for—

(A) Electric Voting Machine
(B) Electro Vote Method

(C) Electronic Voting Machine
(D) None of these

seveeeenn. Called Gateway of India.
(A) Mumbai

(B) New Delhi

(C) Chennai

(D) Calcutta

Bird flu affects—
(A) Cattle

(B) Poultry

(C) Sheep

(D) Silkworm

Which Amendment of our Constitution
provides for free and compulsory education to
all children of the age of six to fourteen years ?
(A) 86th Amendment (2002)

(B) 96th Amendment (2011)

(C) 92nd Amendment (2003)

(D) 93rd Amendment (2005)

Which one of the following four vedas contain
an account of magical charms and spells—
(A) Rigveda

(B) Yajurveda

(C) Atharvaveda

(D) Samaveda

Entromology is the science that studies—
(A) Insects

(B) The formation of rocks

(C) Behaviour of human beings

(D) None of these

The Agriculture Minister of Uttarakhand is—
(A) Harish Rawat

(B) Preetam Singh Panwar

(C) Yash Pal Arya
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27.

28.

29.

30.

31.

32.

33.

34.

The famous Mayawati Ashram is situated at—
(A) Dehradun

(B) Uttarkashi

(C) Near Lohaghat (Champawat)

(D) None of these

Among Panch Badries, where is the Bhavisya
Badri situated ?

(A) Reini village

(B) Subhai village

(C) Adibadri

(D) Urgum

Who is the new Governor of Uttarakhand—
(A) Dr. Aziz Kuraishi

(B) Surjeet Singh Barnala

(C) Harish Rawat

(D) Dr. K. K. Paul

Bharat Electronics Limited (BEL) is situated
in Uttarakhand at—

(A) Haridwar

(B) Kotdwar

(C) Nainital

(D) None of these

What is the botanical name of Burans ?
(A) Rhododendron Arboreum

(B) Rhodon Arboreum

(C) Rho Arboreum

(D) None of these

Capital of Australia is—

(A) Sydney (B) Melbourne
(C) Canberra (D) Brisbane
Currency of USA is—

(A) Pound (B) Dollar

(C) Dirtham (D) None of these

Jwala Gutta is associated with—
(A) Cricket (B) Football
(C) Hockey (D) Badminton
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42,

43.

44,

45.

46.

47.

48.

Which of the following Scheduled Tribes
found in Uttarakhand ?

(A) Bhotiya

(B) Buksa

(C) Tharu

(D) All the above

Choose correct matching—

(A) Chopta - Dehradun
(B) Khatima S U. S. Nagar
(C) Takula — Champawat

(D) A & B both are true

Who among the following appoints the Prime
Minister of India—

(A) Lok Sabha

(B) President of India

(C) Rajya Sabha

(D) Political Party

The National Song “Vande Matram” was
composed by—

(A) Shri Aurobindo

(B) Bankimchandra Chatterjee

(C) Ravindranath Tagore

(D) None of these

Which of the following states is the largest
producer of gold in India ?

(A) Uttarakhand (B) Maharashtra
(C) Gujarat (D) Karnataka

The youngest recipient of the “Bharat Ratna”
award is—

(A) C.N.R. Rao

(B) Amratya Sen

(C) Sachin Tendulkar

(D) None of these

The difference in time between Indian
standard time (IST) and Greenwich Mean
Time (GMT) is— '
(A) 5 Hours 30 Minutes

(B) 12 Hours 30 Minutes

(C) 24 Hours 30 Minutes

42.
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45.

46.

47.

48.

(D) 8 Hours 30 Minutes
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49.

50.

52.

53

4.

55.

56.

57.

Blue Revolution refers to—
(A) Agriculture

(B) Fisheries

(C) Poultry

(D) Food control

Red colour in the petals of a rose flower is
due to the presence of—

(A) Chlorophyll B

(B) Acitic Acid

(C) Citric Acid

(D) Xanthophyll

. Plant age can be find out from—

(A) O, emission rates
(B) Chlorophyll

(C) Annual rings
(D) None of these

Which part of the Cocoa tree is the source of
natural chocolate flavour ?

(A) Stem (B) Leaves
(C) Flower (D) Seeds

‘Farmers Day’ is celebrated on—
(A) July 11

(B) April 22

(C) October 16
(D) December 23

Vitamin that prevents night blindness is—
(A) A (B) B
©C (D) D

Water has maximum density at—
(A) 4°K (B) 4°C
(C) 4°C (D) None of these

The Minimum Wages Act was passed in—

(A) 1947 (B) 1948

(C) 1973 (D) None of these
Which country hosted FIFA World Cup 2014 ?
(A) Spain (B) Poland

(C) France (D) Brazil

49,

50.

51.

52.

53.

54.

35.

56.

57.

SET-A
Arelt s 6 ed 8-

(A) FW

(B) 7T &F

(©) BFR

(D) @ fE=r

TAE & g9 & 9l & {7 9 3 A
RraaT Suftafd & RO 8T &—

(A) FARITEA

(B) uhfes o=t

(C) fafew st

(D) F=qifthe

Il T 39 THY TAT TS A Ghdl o—
(A) O, & FHAT T

(B) FARITH

(C) =i &

(D) 9 q P13 7

BT U5 H B A1 8T Tpfas e &
e FT 9 8—

(A) T (B) wr

©€) & (D) §i

‘Fueh e’ wEar S §—

(A) 11 g
(B) 22 3y

(C) 16 I

(D) 23 RE=T

faerfem St wWieeh @ Jewar -
(A) A (B) B
G C (D) D

WHW(WWW)HW&IEQHT%*

(A) 4°K (B) 4°C

(C) 4°C (D) ¥ § H5 T
A Aoy sfefva ke e -

(A) 1947 (B) 1948

© 1973 (D) ¥ & F TE
2014 HIFT {499 I A AR .o A
(A) &7 (B) drcioz

(C) wig (D) it

1542H



58.

59.

60.

61.

62.

63.

64.

65.

Which of the following mango variety is a
hybrid ?

(A) Dashehari

(B) Alphonso

(C) Amrapalli

(D) None of these

The only methylated base in mammals
is—

(A) 7-methyl guanine

(B) Thymine

(C) Methyl adenine

(D) None of these

How many pairs of chromosomes do
chimpanzees carry ?
{A) 23
(C)24

(B) 46
(D) None of these

The skulls of frog and rabbit are—
(A) Dicondylic

(B) Monocondylic

(C) Tricondylic

(D) None of these
Which structure is called tongue of cockroach ?
(A) Labium (B) Labrum

(C) Hypopharynx (D) None of these

Which of the following is used as emulsifier ?
(A) Algin (B) Agar
(C) Funoran (D) None of thesc

Recurrence of floods in the plains of North
India is due to excessive—

(A) Siltation of dams

(B) Rainfall

(C) Agriculture

(D) None of these

Selaginella differs from funaria in having—
(A) Motile sperm

(B) Well developed vascular system
(C) An independent gametophyte
(D) None of these

58.

59.

60.

61.

62.

63.

65.

10

SET-A
fer ® § o & B 91 e ga (erfaE)
]

(A) 9Bl

(B) SR

(C) SmeTett

(D) T8 & g 7E

WAl § qEr W arenr UhAE Afdfad
&I BT B—

(A) 7-Framew T

(B) gmafaT

(C) foramzw W=

(D) & | g T&

TRiwist & foer ST Torge B € 7

(A) 23 (B) 46

(C) 24 (D) 3 § @i El

o IR GO & BI9Sl &—
(A) fergms

(B) T w@&H

(C)ﬁw

(D) =7 ¥ =g T

B A e B e 91 i wed € 2
(A) e (B) 3=
(C) Rreer (D) & & Pig &

fr=r § § ford wradiee wed € 2
(A) Tier (B) I
(©) G (D) 9 & &I

TR ARAT Y8R W IR-9X 918 & FHR 8,
sifere—

(A) T WY 9fer

(B) awf

(C) B

(D) 37 ¥ FE 7

AT, TR ¥ 5 @E s a—
(A) Tiicrsfier gmTY

(B) a1 fawiaa daes o=

(C) @@= gt

(D) T8 § =g T

1542H



66.

67.

68.

69.

70.

71.

72.

73.

Fern gametophyte is—

(A) Multicellular cordate prothallus
(B) Liver shaped thallus

(C) Unicellular colourless

(D) None of these

Formation of gametophyte directly from
sporophytic tissue without spores is—

(A) Apogamy

(B) Apocarpy

(C) Apospory

(D) None of these

Protonema occurs in the life cycle of—
(A) Riccia

(B) Funaria

(C) Dryopteris

(D) None of these

Pusa Nanha is the variety of—
(A) Banana (B) Fig
(C) Papaya (D) Sapota

Cuscuta is a—

(A) Holo stem parasite
(B) Holo root parasite
(C) Semi root parasite
(D) Semi stem parasite

Meloidogyme is the cause of—
(A) Root knot

(B) Stem gall

(C) Root rot

(D) None of these

Flame cultivation is adopted in—
(A) Cotton (B) Groundnut
(C) Rice (D) Sugarcane

A system of growing plants in soil-less
culture is—

(A) Capillary system

(B) Gravitational system

(C) Hydroponics

(D) None of these
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74.

75.

76.

T

78.

7,

80.

81.

A reaper is used during—
(A) Harvesting

(B) Irrigation

(C) Sowing

(D) None of these

In ascent of sap, water moves up through—
(A) Epidermis

(B) Cork

(C) Phloem

(D) Xylem

The father of “White Revolution® is—
(A) K. C. Mehta

(B) Mohd. Raza Shah Pahlay

(C) Verghees Kurien

(D) M. R. Desai

Yellow colour of cow milk is due to—
(A) Carotene

(B) Casein

(C) Lactose

(D) Riboflavin

‘Jamunapari’ is the breed of—
(A) Cow (B) Lion
(C) Tiger (D) Goat

Pigment responsible for red colour in carrot—
(A) Anthocyanins

(B) Carotene

(C) Lycopene

(D) Quercetin

Light reaction of photosynthesis takes place
in—

(A) Stroma

(B) Plastoglobules

(C) BothA & B

(D) None of these

DAPOG is a method of—
(A) Direct seeding

(B) Nursery raising

(C) Plant breeding

(D) Transplanting
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82.

83.
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85.
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88.

89.

90.

Which is a polyembryonic fruit ?

(A) Banana (B) Grape

(C) Guava (D) Mango
Pollination in beet root plant is mediated by—
(A) Bird (B) Insect

(C) Water (D) Wind

Copper deficiency causes—
(A) ‘Ergot’ in bajra

(B) ‘Grey speak’ in oat

(C) ‘Khaira’ in rice

(D) None of these

The inflorescence of paddy is known as—
(A) Ear (B) Panicle
(C) Spikelet (D) Capitulum

“A History of Agriculture in India” was
written by—

(A) B.P. Pal

(B) R. K. Shukla

(C) S. K. Shukla

(D) M. S. Randhawa

Which one of the following is a root parasitic
weed ?

{A) Poa

(C) Cuscuta

(B) Orobanche
(D) None of these

First Agricultural University in India was
established at—

(A) Hissar (B) Kanpur
(C) Pantnagar (D) Udaipur
Flax is fiber of—

(A) Cotton (B) Jute

(C) Linseed (D) Sunhemp

In plants food material moves through—
(A) Endodermis

(B) Phloem

(C) Vacuole

82.

83.

84.

85.

86.

87.

88.

89.

90.

(D) Xylem
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Which one of the following can check flower
drop in crops ?
(A) Auxin

(C) Kinetin

(B) Ethylene
(D) None of these

Pond silk is—

(A) Spirogyra
(C) Vaucheria

(B) Ulothrix
(D) None of these

The study of Fungi is known as—
(A) Morphology

(B) Mycology

(C) Phycology

(D) None of these

Tikka disease occurs in—
(A) Paddy (B) Sugarcane
(C) Wheat (D) None of these

Animals of which class produce pearls—
(A) Mollusca (B) Bivalvia
(C) Gastropoda (D) None of these

Yolk sac placenta is found in—
(A) Pig (B) Sheep
(C) Primate (D) Didelyphys

XO type of sex determination is found in—
(A) Man (B) Grasshopper
(C) Horse (D) None of these

Kupffer’s cells are found in—
(A) Liver (B) Pancreas
(C) Ovary (D) Testis

Find the odd one out—
(A) Ring worm

(B) Tape worm

(C) Hook worm

(D) Guinea worm

Which blood group has both ‘a’ and ‘b’
antibodies—

(A) A

(B) B

(C) O

(D) None of these
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